H

1. Y=2x%and y = 4; about the X-axis.
Ay 64;J (B) S12n ©) 256m
15 5
(D) is&t_ (E) none of these
2. Yy=lny,y=0, x= €; about the line x = e,

A ‘ e - o
W nﬁ (€=x)In xdx (B) KL (e—e)dy © 2nJ (e —Inx)dx

M) = JO (& =2e" + ey dy _ (E) none of these

3 Y=x'and y = 4; about the Iine y=-1.
4

(A) 4n L G+ DAy dy B) 2=n I 4 -x*)dx © nJZ (16 — x*) dx
2 ’ ?

™ 2n L (24 = 2x2— x%) o (E) none of these

4. ¥Y=3x-x*and y = 0; about the x-axis.

) "LWH‘) e (B) x f Br-v)ide (€ = F(zx_xz) dr
0

0

K — 9/4
D J 9= 4y dy :
(D) 2r ) J—Q_ 4y dy (E) & J(, ¥y dy

5. ¥y =3x-x?and y = x; about the x-axis.
32 2
(A) =« L [(Bx —x*)?—x dx B) = j (9x* - 6x%) dx
0

3

© TEL [((Bx —x?)?—x" dx (D) nJ [Bx—-x?)*—x*] dx

0

E). nf (2x—x»*dx

6. ¥y =x% x=2, and y = 0; about the y-axis.
167 32r 8r
a — (B) 4n © = D) 8t . (B) —
3 : 5 3

7. The first quadrant region bounded by y = x%, the y-axis, and y = 4; about the y-axis.

A st B 4 (© % @ 2 g 2

3 3 3

8 The area bounded by the parabola y = 2 — x* and the line y = x -4 is given by

(A) ﬁ (6 -x—-x%)dx (B) J_I (2 +x +27) dx ©) J’:‘ (6 —x - x7) dx

‘IE 2
D) 2 f 2-x)dx+ f (4-x)dx (E) none of these
0 3

If the curves of f(x) and g(x) intersect for x = a and x = b and if f(x) > g(x) > 0 for
all x on (g, b), then the volume obtained when the region bounded by the curves is

rotated about the x-axis is equal to

@A) © j 1) dr f ¢ dx
®) j 1) — g1 dx
(C) 2n f x[f(x) — g(x)] dx

D =« J [f(x) — g*(x)] dx

(E) none of these
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(] = { (A
PD 3: Ax=X and j J U
A 2y— x2= O
L/‘" 2/ . ) {D
X =R 0
N\

ES
5) %: QX"XQ‘} 3ax, about X-AX!

ezl /II/S[@X’XA)&“ xa':( A

0
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